More Quadratic Inequalities
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https://www.codecogs.com/eqnedit.php?latex=%255Chuge%2520%255Ccolor%257Bblue%257D%25202x%255E2-12x%253E-10%250

Solve algebraically:
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Let’s put this into practice:

A stuntman will jump off of a 20 m building. A high speed camerais
ready to film him between 15m and 10m above the ground.

When should they start the high speed camera?
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For our question: . . d = 20 — 5t
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And we make our quadratic:
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https://www.codecogs.com/eqnedit.php?latex=%255Chuge%2520%255Ccolor%257Bblue%257D%25202x%255E2-12x%253E-10%250
https://www.codecogs.com/eqnedit.php?latex=%255Clarge%2520%255Ccolor%257Bred%257D%2520x%253Dx_0%252Bv_0t%252B%255Cfrac%257Bat%255E2%257D%257B2%257D%250
https://www.codecogs.com/eqnedit.php?latex=%255Chuge%2520%255Ccolor%257Bblue%257D%2520%255Ctherefore%2520d%253D20-5t%255E2%250
https://www.codecogs.com/eqnedit.php?latex=%255CHuge%2520%255Ccolor%257Bmagenta%257D%2520%255Crule%257B3cm%257D%257B0.15mm%257D%253C20-5t%255E2%253C%255Crule%257B3cm%257D%257B0.15mm%257D%250

Solve each quadratic inequality, and graph the solution on a number line.
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y =17y +70 <0
x(x+1)>112 - 5x

2

2x* <5x-2
b(b+3)=-2

y =17y +70 <0
X(x+1)>112 - 5x
2d° +5d <12

10 -9y > -2y°
c(c+4)<3+4+3(9+¢)
b(b+ 3)> -2
(x+3)" <6(x+15)
7x’ 24(1+ 3x)

-8< 4(x-x%)

2k’ +3k-2>0

4x’ +8<33x

X' +422x"-3x
4<13x - 3x°
6x—x >8

8x < -3(1-x7%)

t* +18= 11t

x <8

2t°>9t+18

2.

4.
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x*+9x+13> -7
a’+3a+2<-3(a+2)
10 -9y > -2y

a’ <4(2a-3)
x*+9x+13>-7
a’+25<10a
a’+3a+22-3(a+2)
2x* <5x-2

2a(a +6)>5-a(a+2)
a’ <4(2a-3)

2x° +729x

3’ +7x< -2
x'=x-2>0

t* +2t-3<0

x’ 24(x-5)

10 - 3x <x°

6(x° +1)> -13

20a° <1-a

y*=25

3x(x+ D<= x(x+5)
x4+3x>12

4x*-9x+2<0
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13.

16.

19.

28.

3L

37.

42.

T<y<10
4 <ag<-2

b<-2orb=-1

X<-50rx=>-

S3<r<

-l <x<4

no real solutions

5
X<——— or x>

3 )
t<—;— ort>=6

2. x<-Sorx>-4
5 ! <x<?2
. 2_x_.
8. 2<a=6
11. x<-l14orx=>8§
14 x=-4orx=-2
17. -6<c<5
20. 2<a<6
2
23, x=—orx=2
7

26. x<-lorx=2

1
29, —<x<8§

4
32, x=-So0rx=2
35. 2<x<4
38. x=-5orx=5
41. —2J2-<x<2ﬁ
—3+457

2

1

44 —-<x<2

12.

15.

18.

21.

24,

27.

39.

x<-14orx=>8

T<y<10

no solution



